
SAP ABAP table J_1BTXIS3 {Grouped ISS}

J_1BTXIS3

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

SHIPFROM [CHAR (3)]

SHIPTO [CHAR (3)]

GRUOP [NUMC (2)]

VALUE [CHAR (20)]

VALUE2 [CHAR (20)]

VALUE3 [CHAR (20)]

VALIDFROM [CHAR (8)]

J_1BTREGX

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

TXREG [CHAR (3)]

 J_1BTXIS3-SHIPFROM = J_1BTREGX-TXREG 
0..N

1  J_1BTXIS3-SHIPTO = J_1BTREGX-TXREG 0..N

1
J_1BTXGRUOP

MANDT [CLNT (3)]

GRUOP [NUMC (2)]

 J_1BTXIS3-GRUOP = J_1BTXGRUOP-GRUOP 

0..N
1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 J_1BTXIS3-LAND1 = T005-LAND1 

0..N

1


